Dry Dry—Wet Wet-Dry Wet
Psst0=A—B Psst,s =L+K-1 Pssr9=Q PssT,12=T
Psst,1 =D—B Psst,6 =T—1 Psst,10 =R PssT,13=U-V
Psst2o=A—-C PssT,7=M—P Psst,11 =S PssT,14 =W X
Psst,3=F—E PssT,§ =N—-0 Pucrsoo,s =J—K  PugTrs00,9 =R—S
Psst,4=H-G Pucrso0,2 =E—F  Pugrsoo,e =M —L  Pugrsoo,10 =T—S

PuGTs00,0 =B —A
Pugrsoo,1 =C—D
PuGr200,0 =A—B
Pucr200,1 =C—D

Pugrs00,3 =G—F
PuGrso0,4 =H -1
PuGr200,2 =F—E
PuGr200,3 =F—-G
PuGT200,4 =H—1
PuGr200,5 =H—-J

Pugrs00,7 =0 —N
PuGrs00,8 =Q—P
PuGT200,6 =K—L
PHGT200,7 =K—M
PuGT200,8 =0 —N
PHGT200,9 =Q—P

Pygrsoo, 11 =U—-V
PHGT500,12 =X —W
PHGT500,13 =U—W
Pugr200,10=R—S

PHGT200,11 =X—T
PHGT200,12 =V —-U
PuGT200,13 =W—-U




